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1. What is the 6th term in this sequence: 768, 8, = e

2. 10 litres of wine cost €60. What is the cost of 3 litres?

3. If | double a number and subtract five | get 11.
What is the nur[rl—t_)ler?

4. % of €15 =

5. /iorug?)y match, which lasts 80 minutes, started at 2.‘15 p.m.
If there was a half time break of 5 minutes, at what time did
the game finish?

6. A grocer paid €3 for ten lettuces and sold them at 50c each.
What profit did he make altogether?

7. If a snail crawls 25cm in one minute, how long will it take to
crawl 3m?

8. Which is the odd one out?
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